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1. T TSR] HISEHR GO HIOTHIOTRT |HIISTe B RO Hel T e ?

@) e | T — A, SR

(b) ey e A AR - WP, M

©) o ¥ — SUFE AR

) fooe somag fed - R Rig

I S
1) (a) 3NfOT (b) BT (2) (b 30T (c) W
(3)  (a), (b) o1 (d) B @) (b), (c) 3T (d) B

Which of the following Social Work Organizations were established through Prarthana Samaj ?
(@)  Social Service League - N.M. Joshi '

(b) Servants of India Society - G.K. Gokhale

(¢)  AryaSamaj - Dayanand Saraswati

(d) Depressed Classes Mission - V.R. Shinde

Answer Options : '

(1) (a) and (b) only (2) (b)and (c) only

(3) (), (b) and (d) only (@)  (b), (©) and (d) only

2. RS SaTERene Ve Bl BIueY qUF TMRRIE U T4 Aad’ 3 Hel?
1) wri-fe) guRm HIEr, 1909
(2) WfTg-—TFAHE RN BRIET, 1919

(3) HRd WXHR dI¥aT, 1935

(4) Rl B¥El, 1919

Which Act was described by Pandit Jawaharlal Nehru as ‘a new charter of Slavery” ?
(1) The Morley-Minto Reforms Act, 1909

(2) The Montagu-Chelmsford Reforms Act, 1919

(3)  The Government of India Act, 1935

(4) Rowlatt Act, 1919
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3. B WRBRA A AVHEE Suered Foredl “THhes YBel’ SIS Wi STt weeE
RIS saer betel Brar?

(a)  faren (b) FHerwA (¢ T (d) sHsH
T SR

1) (@), (b) 3T () (2)  (b) 3T (d)

@) (@) (o) 3T (d) @) (a), (b) 37T (d)

Which of the following cities did company Government provide the arrangement of training for its
soldiers to handle ‘Enfield Rifle’ ?

(@ Ambala (b) Calcutta (c) Sialkot (d) Dum Dum
Answer Options :

() (@, (b)and (c) (2)  (b)and (d)

() (@) (c) and (d) 4)  (a), (b)and (d)

4. DY REARARN FleES el Aot ST T smel?
1 @S Ruw ) s fores (3) s T3 @) @S I
The District Local Board was established during the period of which Viceroy ?
(1) Lord Ripon (2) Lord Lytton (3) Lord Curzon (4) Lord Wellesley

5. Welloiie! SV SR RIGRATAR 1883 A1 T HikaT TR BRUAT SA?
1) R REE w4 smam (2) SISl HFIA ARIAT
(B) HbSHIES AN (4) ¥R O A AN

‘Famine Code’ was prepared in 1883 on the recommendation of which of the following
Commissions ?

(1)  Sir Richard Strachey Commission (2) George Campbell Commission

(3) MacDonald Commission (4)  Sir James Lyall Commission

6. 'AIRNGD VR U HATHNIE JereAles! B0 Hafdr Fee ?

1) BT S (2) WISRIG Ui

(3) NHES "R 4) CRIRE Bod

Who of the following was not associated with art of ‘Satyashodhak Jalsa’ ?
(1)  Honaji Bala (2) Bhaurao Patole

(3) Ramchandra Ghatge (4) Jotirao Falke

Hecll BT ST / SPACE FOR ROUGH WORK
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7. @A fdam arg e e

A A RN g I g Y TogE e[ @t kg bl

R B : A T Card) T, FaRE Wsardy 3 iy AT A . I [ BrRISHS®RN

i S
(1) ¥R 9% 3EHE @H Q) A g HAH IS
() AEEIE sl feT 4) WrEEE gaET

Identify the person by reading the following statements.
Statement A:  Praised as ‘An Ambassador of ‘Hindu-Muslim Unity’ by Sarojini Naidu'.

Statement B :  He made this statement in his speech in the legislature, ‘Tam a Nationalist First, a
Nationalist later and a Nationalist last’.

Answer Options :
(1)  Sir Sayyad Ahmed Khan (20 Maulana Abul Kalam Azad
(3) Mohammad Ali Jinah (4) Mohammad Igbal
8. I M
(a) 1899 TRIEr (Fu3) (i) 31F. BleecHY
(b) 1906 "wreT (oY) i) R
(© 1907 ‘RN (FaeHI®) (i) . A SR
d) 1909 '<IREP’ (AFTYR) (iv) WHeHR
TR S

@ () ©@ (9
» G @) @) 0
@ (v) @ @) (@)
@) @) @) @@ o
@ @) @) @ @)

Match the following :

(@) 1899 ‘Gurakhi’ (Mumbai) (i) A.B. Kolhatkar
(b) 1906 ‘Bhala’ (Pune) (i) Gir

(c) 1907 ‘Hari Kishore’ (Yavatmal)  (iii) Shri L.N. Joshi
(d) 1909 ‘Deshsevak’ (Nagpur) (iv) Bhopatkar
Answer Options :

@ (® © (@
1 @) @) @) 0
@ (v @ @) ()
@) () (@v) @) @
@ (@ @) @ @)

Feed] BIHRITS! ST / SPACE FOR ROUGH WORK P.T.O.
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9. IO RN BIMEGLN Bar?

(1) el geron 2) SRFY JIRON

@) T SIS (4) SrerfdarE gl

What was the Strachey Commission about ?

(1) Educational Reforms (2)  Health Improvement

(3) Drought Relief Plan (4)  Prevention of Child Marriage

10. 1920 Wed AT HRA i 3R T gige B uiker srsnat @i o B ?

(1) <R o X ) < tad

(3) A s i (4) owRNe wEd

Who among the following was the first president of the *All India Trade Union Congress’ established
in19207?

(1) Lala Lajpat Rai (2) Lokmanya Tilak

(3) Shripad Amrut Dange (4) Ashok Mehta

11. e fagm fErm w0
(a) TERTSCET &Y AR Y@ fAeaRIIeT B4 8.
(b) WERTSE XSIRT Hebgd I,

(c) WERTERN gd—ulaw e AR 800 6 A1, .
(d) ¥ERTER &=%a 3,07,713 A1 A, o,

WS PO fagr/Rem TR amRa?
(1) & (a) () I (a) MM (b)
(3) R (c) T (b) @ (a), (c) 3T (d)

Consider the following statements :

(@) The latitudinal extension of Maharashtra is less than the longitudinal extension.
(b) The Tropic of Cancer Passes through Maharashtra.

(c) The east-west length of Maharashtra is about 800 k.m.

(d) The area of Maharashtra is 3,07,713 sq. k.m.

Which of the statement/s given above is/are correct ?

(1) Only (a) (@ Only (a) and (b)

(3) Only (c) and (b) @ (a), (c) and (d)

=gl HIFTHIO! ST / SPACE FOR ROUGH WORK
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12, QOId 9dq RRexier SAOgER Saxdl $H .
(@) DR (b) FHared (c) g (d) s
T o
O @@ b @ OGO @ @b d @ ©b) @
~ Arrange the following mountain peaks in descending order of height.

(@) Makalu (b) Nandadevi (c) Annapurna (d) Badarinath
Answer Options :

O @@0.0 @ OO0 6 @O0 @ @ 6@

13. WRAR] WIS DT TebT TN Faiq SR i ST 38 ?

(1) > (@ s (3) RET (4)
India has the longest border with which of the following country ?
(1) Nepal (2) Bangladesh (3) Pakistan (4) Bhutan

14. 2011 =1 SFAUFRER, HERTSIAE @iefer fies nfn Jeiet st Tes) eibaean I Sies .

fores IE B (%)
(a) SRR () 2547
(b) TITHS (i) 18.98
() WERT (iii) 21.59
d) TR (iv) 20.10
[ W

@ () () (9
O @ @ Gv) (i)
@ @ G (@) (iv)
@) () (@) (i)
@ @) (@v) @ @)
Match the following districts of Maharashtra and its percentage of Urban population as per the

~—~
[Ty
N—

Census 2011.
Districts Urban Population (%)
(@) Ahilyanagar (i) 2547
(b) Yavatmal (i) 18.98
(c) Satara (iif) 21.59
(d) Latur (iv) 20.10
Answer Options :

@ @® (( (@
1 @ @ @) (D)
@ @ @ @) (@v)
@) Gv) @) @@ @
@ @) @(v) @ (@)

e BIETATS) IR / SPACE FOR ROUGH WORK P.T.O.



R19 8
15. TP HIorR ford) el M arRel W ?

(1) fog (2) o B (@) 4)

Which of the following script is used in Santhali language ?

(1) Billu (2) Ol Chiki (3)  Brail @)
16. i< o ¢

wWH A wWYq

(a) ¥eRT (i) IvEd ded

(b) -gER (i) TS s ooy

(€ SR (iif) RS i Tew

(d) ®.F9el TR (iv) demaran fea

q‘ﬂfﬁl W .

@ () (9 (@@
O @O @ @) (Gv)
2 @) @v) @) (@)
@) () @ @) ()
@ () @ @ ()

Match the following :
Column A Column B
(@) Bhandara (i)  Yashwant Lake
(b) Nandurbar (ii) City of Lakes
(c) Udaypur (iii) City of Gates
(d) Ch. Sambhaji nagar (iv) District of Lakes

Answer Options :

@ () © (@
@O O @ @) (dv)
(2) @) @v) @) @)
@) () @) @) ()

@ Gv) @) @ ()

Peel] HIHTEIS! ST / SPACE FOR ROUGH WORK
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17. @rena g™ ua

(a) AN P RIGRAER P WrRard <1 S 1881 A8 Hefl et

1) HaT Y (a) TS L.

) B YA (c) R I8,

3) - faum (a) o7 () RIS e
@) faum (b) T (c) TR e
Observe the following statements :

(a)  As per the recommendation of Famine Commission, Agricultural Department was established
in June 1881.

() Maharashtra Agricultural Commissioner Office is at Mukundnagar, Pune.
(c) Krushi Bhushan award is given in the name of Ex-Chief Minister.
Answer Options :

(1)  Only Statement (a) is correct.

(2) Only Statement (c) is correct.

(3) Statement (a) and (c) are correct.

(4) Statement (b) and (c) are correct.

el BIHTETS! SR / SPACE FOR ROUGH WORK P.T.O.
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18. I Sirsw A
e - 1
(foree)

(@ I
(b) YRR
() ofeam R
(d) TR
T ST
@ (b) (o)
O @ G (i)
(2 @) (@ (i)
(3 @) (v) @)
4 (D) (iv) (i)
Match the pair :
List - I
(Districts)
(@) Pune
(b) Ratnagiri
(c)  Ahilyanagar
(d) Nagpur

Answer Options :

1)
)
()
(4)

(@)

(b)

(©
(i)
(i)
()
(i)

(d)
(iv)
(iv)
(ii)
()

(i)
(iif)
(iv)

(i)
(ii)
(iv)

10

RICHE | |

(fermponere s [SerTor-2011] )
939

951

915

1122

List - II

(Sex Ratio [Census-2011])
939

951

915

1122

Heed] HTHRITS! ST / SPACE FOR ROUGH WORK
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19. TS o :

foree SeifaEd Y
() TR @) T
(b) HTRT @) fw
€ TS (iif) IR
(d) 9Tl (iv) S
T S

, @ ® (( (@
O @ @) (@) (@)
@ (v) @) @) @

@ (v) (@) @) ()
@ (v) @) (@) ()

Match the following :
Districts Hydroelectric Project
(a) Solapur (i) Kanher
(b) Satara (i) Bhira
(c) Raigad (iii) Warna
(d) Sangli (iv) Ujjani

Answer Options :

@ () (© ()
0 @ @) @) (1)
2 (v) @) @) @
@ Gv) (@) (@) (i)
@ @) @ @) ()

e BTETATS ST / SPACE FOR ROUGH WORK P.T.O.
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20. ST AT

A S
@ (® @© (@

O @ 6 @) @

@ O @ @ @)

G @ (v @ @)

@ @ @ 6 )

Match the following :
Fishing Port

(@) Dahanu

(®) Mahim

() Dabhol

(d) Vijaydurg
Answer Options :
@ B © @

M @ 6 G @

@ O @ @ )

® @ (v @ G

@ @ @ @ @)

(id)
(i)
(iv)

12

District
Mumbai
Palghar
Sindhudurg

Ratnagiri

HTel] BHTHTS! SN / SPACE FOR ROUGH WORK
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13 A
HERTSE. FebR] IR 1960 TR WIAeIa! PIORT HebR] Fedid ﬁwmws%ﬂﬂﬁ"r/ﬂﬁé?

(@) FEHR PRIETIR Aeu Heled Hedr Hei R w4 gws FREgaR saell féhar =@ a
GLIGUR

(b) TEBR T TARATTH HEHN RIS M1 HEDRTeA AR Bl fohat 11 & ey,
(©) WEPR TR INITER GBI FeAeTH 1 SANER Ho S g FHo.
(d) EDPRY G AT TN FHT AT BRGNS @R Ao,

g I
(1) W (o) (2) W (a), (0)
(3) e (b), (c) MM (d) 4) I (a)

According to the Maharashtra Co-operative Act, 1960 which of the following is/are not the purpose
of audit of Co-operative societies ?

(a) Tocheck whether all the books of account are maintained by the Co-operative societies registered
under the Co-operative societies Act.

(b) To check whether the management of Co-operative societies is in accordance with the
Co-operative Act and the principles of Co-operation.

(c) In case of mal practices in the Co-operative society, making the directors liable and imposing
financial penalties.

(d) To detect errors and irregular transactions in the accumulated expenditure of Co-operative

societies.
Answer Options :
(1)  Only (c) (2)  Only (a), (¢)
(3)  Only (b), (c) and (d) (4) Only (a)
22, wWERTSER) anfie et | 2023-24 THR RSIredl Wd Tl B Aegald BT Faled
e,
(1) fapr B () WWUR &
(3) UXg T A PR @) amERIS WEr B
As per the Economic survey of Maharashtra 2023-24 is the largest contributor of own tax
revenue of the state.
(1) Taxon Sales (2) TaxonTrade
(3) Goods and Services Tax (4) Tax on Social Services

gree]l HIHTATS! ST / SPACE FOR ROUGH WORK P.T.O.
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23, HRAR AENfie Een g @i TageT 9y i S o,

iR wven RG]
(@) R MeNfe =T Ferss (IFCI) () 1964
(b) RS Senfe e % (IDBI) (i) 1948
© N5y oY SEn AEMe® (iii) 1954
d) YT e e Here® (iv) 1955
o

@ () (@ (@@

M O G @) ()

2 @ @ @v) (i)
@) @) @v) @ @
@ () (@) @) @)

Match the Indian Industrial Institutions and its year of establishment.

Industrial Institution Establishment Year
(@) Industrial Finance Corporation of India (IFCI) (i) 1964
(b) Industrial Development Bank of India (IDBI) (i) 1948
() National Small Industries Corporation (iii) 1954
(d) National Industrial Development Corporation (iv) 1955
Answer Options :

@ () (J (@@
M @ @@ (@) ()
(2 @) @@ () (i)
() (@) (v) () ()
@) (v) (i) @@ @)

Free] STATHIS! IR / SPACE FOR ROUGH WORK
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24, WRT IR Eard 2024 Gafer A fage /= s,
(@) o AT 1 7IE 2024 RSN GReg He.
(b) 1 STEaTE SRR HTR FEST (ILO) ST #d frerramarardy ween i+ Hgaiqu) FUR Hetl
.
(© STEATETd TR ST AT S SITRUSII AET SHRARTAR TPl SIHUAT Tl e,
T S
(1) (a) 3T (b) (2 (a) 3T () (3 ()3 (o) (4) W (a)
Which is/ are the correct statements about India Employment Report 2024 ?
(a) The report was released on 1 March 2024.

(b)  The report was jointly prepared by ILO and Institute for Human Development.
(c)  The report highlighted the increasing uncertainties in the labour market due to fast changing

technologies.
Answer Options :
(1) @and(®) (@ (@and() @) (b)and () 4) Only (a)

25. WERTSTE e Ureol 2023-24 JFEATIER, Wieg ) Scre e AR "eRT I € 27%
femmg _ FHHEIGER IR,

(1) -l 2 T (3) <= (4) e

According to Economic Survey of Maharashtra 2023-24, Maharashtra State ranks with
27% share in all India in Organic Agriculture Production.

(1) first (2) second (3) third (4) fifth

26. @A g faRd =
(a) R T oifs SREAE TIT W7 1935 WL HRUA el
(b) HRAE TG 14 AR SH G 1959 A TEABIIT HRUAT e
(©) 1 1955 wed W I it SREAT TG HRUA e
d) Re SFa g TR 498 A AR,
e PR /N e/ fRgm =R emg/a?
(1) (a) 3T (b) @ (b) T () (@) (o) 3 () @ (@), () ST (d)
Consider the following statements :
(@) Reserve Bank of India was established in the year 1935.
(b) Major 14 Commercial banks in India were nationalized in July 1959.
(c) State Bank of India was established in July 1955.
(d) The head office of Reserve Bank is at Mumbai.

Which of the above statement/s is/are correct ?
(1) (a)and (b) (2) (b)and () 3 (c)and(d) @ (@), (9)and(d)

el PRSI W / SPACE FOR ROUGH WORK . P.T.O.
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27. T ST RIS 1993-94 A1 H@dawivaoh C.5.0. FR B0 GG It aTR HYUdr e ?

(@ 1994-1995 (b) 1997-1998 (©  1999-2000 (d) 2000-2001
RLCELE

1) (2R 2 ()P (3) (b) snfer (o) 4) (v

Which revised year was used for National Income accounting by C.S.O. instead of 1993-94 as base

year ?

() 1994—1995 (b) 1997-1998 (©  1999-2000 (d) 2000-2001

Answer Options :

(1)  (a) only (2)  (b) only (3) (b)and (q) 4) (o) only

28. TAAUFHIR IOT SESIHI T AIE HRUINIS I X uReieen ReRia sxvar sead
HERTSE RN el 2023 7ey DIIGT AT BT 3.

O

(2) WA IHASH

(3) TUBIID ST Tead qEISENT
@) 3 AiReNHE wed

Government of Maharashtra has enacted act in July 2023, with the aim to develop a more
complementary ecosystem for investors and entrepreneurs to do business in the state.

(1) MAITRI
(2) Information Technology
(3) Integrated and Sustainable Textiles

(4) Aai Women Oriented Tourism

Fe1 BTSN / SPACE FOR ROUGH WORK
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29, Yuai¥e dror 9 e FaRT @& gie Sre o,
(vuarie o) (frufa @a)
(@) 9= AISE (1974-79) () 44
(b) AT IS (1980-85) (i) 5.2
(€) - Tadr IS (1997-2002) (iii) 6.5
(d) IRE AT (2012-17) (iv) 8.0
gt S -
@ () (9 (d
@ @) @) (@) (i)
(2) @) (@) (v) @)
3 @) @Gv) @) @)
@ @ (v) (i) ()
Match the pairs of Five year plan and set Growth Targets :
(Five Year Plan) (Set Target)
(a)  Fifth Plan (1974-79) (i) 44
(b)  Sixth Plan (1980-85) (i) 5.2
(c)  Ninth Plan (1997-2002) (iil) 6.5
(d) Twelfth Plan (2012-17) (iv) 8.0
Answer Options :
@ () (9 (@
®H @ @) (@) ()
() G (@) () @)
@) @) Gv) (O @)
4 @ () (D) (i)
30. <ETENeNd) SR fAuE/ UM SRameETen BrEn Sdft @ e

(a) & i aeRTe Fraf A8 see M & Ak Hfrsen FeuiErs! T Id.
(b) TRMET UM W W R Hifgdral ST Bl A,

() TRORERIER Sdeiq VEUAT TR & e, WY FaeRK i g e

(d) onfie aeRTd fRiF 3au v B .

I SN
(1) ®ad (a) 30T (b) (2) I (a), (b) 3T ()
(3) Wad (c) T (d) 4) O wd

Which of the following statements are correct about Accounting Benefits ?

(a)  Since all financial transactions are regularly recorded this information can be used for further
reference in future.

(b)  Account book information can be used as evidence.

(¢) There is no need to depend on memory. Therefore, the continuity of the transaction is
maintained.

(d) Financial transactions cannot be controlled.

Answer Options :

(1) Only (a) and (b) (2) Only (a), (b) and (c)

(3) Only (c) and (d) (4) All of the above

greed] HTHTATS! ST / SPACE FOR ROUGH WORK P.T.O.
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31 TR 3T U SAEH Aadm=ai RIea qRIGuare) e NEIECKEIES
(1) F&gF=A wead Y R Ao
(2) YUTTHA QT 3T WARET0T R
@) fram e B Ao
@) A e
To provide a safety net to oilseeds and pulses farmers, the government has been running
(1)  Chief Minister Sustainable Agricultural Irrigation Scheme
(2) Pradhan Mantri Annadata Aai Sanrakshan Abhiyan

(3) Kisan Credit Card Scheme
(4) POSHAN Mission

32. W RO 2024-25 3efRicbearier W ardiedr e Yedfd weie fiam e =i -
() Rremeadiar @Tten Soiadel @i R o,
(b) Rreomeder waften sRFAES @E FH IR,

IAYST BT/ e /3 g am/a?
(1) <8 (a) 3T (b) AT 3T (2) H9% (b) AT TS
3) HA® (a) AFY A (4) OATDT BIORIE AT E

Consider the following statements in the context of expenditure of Major items in Budget
2024-25 of Government of India :

(@)  Expenditure on Energy is higher than expenditure on Education.

(b)  Expenditure on Health is lower than expenditure on Education.
Which of the statement/s given above is/are correct ?

(1)  Both (a) and (b) are correct (2)  Only (b) is correct

(3) Only (a) is correct (4)  None of the above are correct

33. AR oI 9 YRGS Faed e B e ?
(1) 9RGR FEiFe ofdr weear W
() o e
(3) IR ST
4) Red 99 sifw i
Which is the highest institution for Indian accounts and auditing ?
(1)  Comptroller and Auditor General of India
(2)  Finance Ministry
(3) Neeti Ayog
(4) Reserve Bank of India

Heed] HHTHIS TR / SPACE FOR ROUGH WORK



R19 19 A

34, TRAEA TER B B0AR TieNed! HIORN BRI e ?
(a) MR fg=or
(b) FIRAT ST ERRWT=AT TeiweEd ue
(€ T PLT TEN
() Rrgomar R 9 FERSGAA TS
I T ¢
D) (@) () 3T (o) @ () () 3T (d)
B) () (d) P (a) @ (a), (b) ST ()
Which of the following are causes of decline mortality rate in India ?
(a) Control of epidemic
(b) Decline in incidence of malaria and tuberculosis
() Joint Family System
(d) Expansion of education and increased literacy

Answer Options :
(1) (a), (b)and () (2)  (b),(c)and (d)
3) () (d)and (a) 4) (a) (b)and (d)

35. % YRGS W BT S T TEge Sl Te T Hed AR, WIATD! HIUT SFrET 1
|HGE BAr?
(a) %% IYEPpe ArsrT A
(b) HE fax smarTe RPRATAR g™
() ERATHP TRYANFAR SIEH

(d) TR AN

) S

(1) e (a) AT (b) 2 B (a), (b) 3T (c)
(3) W (c) 3T (d) @ (2, ) () 3 (d)

The grant-in-aid from Government of India is one of major factor of revenue receipt. Which of the
following grants comprises in it ?

(@) Centrally sponsored schemes-grants

(b) Grants as per recommendation of Central Finance Commission
(c) Grants as per the Constitutional provision

(d) Other Grants

Answer Options :
(1)  Only (a)and (b) . (2 Only (a), (b) and (c)
(3) Only (c) and (d) 4 (@), () (c)and (d)
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36. LR 2024 7Y HIRATET TS FERTEIeT AR FoTeaaiier BT e, “foreqena §g fasr
™ IEET By ?
(1) fiefm (2) @RI (3) =PR (4) SR

In September 2024, the President of India inaugurated the “Vishwashanti Buddha Vihar’ in which
Taluka of Latur District of Maharashtra ?

(1) Nilanga (2) Jalkot - (3) Chakur (4) Udgir

37. ARGARE el TSR BH BIURIT ST ARG HRUAM TS R ?

(1) s @ e ) P (4) T PR
India’s first lavender Farm has been developed in which State ?
(1) Nagaland (2) Sikkim (3) Tripura (4) Jammu Kashmir

38. DIV HUICT b el "HieRk TelleR e’ a1 a7 SAe™ e f@me one?

(1) fofers (2) foeiy 9y

(3) &N Uy (@) P Ao

Which company has recently received a patent for it’s ‘Solar Flour Mill’ innovation ?
(1) Philips (2) Kirloskar Brothers

(3) Shakti Pumps (4) Crompton Greaves

39. 19 9@ (3rfer<y e wedws) RREY uRve +18 amiforg wxvarg ame ardi?

1) SR — =S SR (2) fe=h — wRa

(3) T — gl (4) ©T - 3BT

Where was the 19" Non-Aligened Movement (NAM) summit held ?
(1)  Brazil - Rio de Jeneiro (2) Delhi - India

(3) Kampala - Uganda (4) Ghana - Accra

40. YSONPT IO AR URIG N INID YU a1 & HRIT o ?

(1) TSR IR (2) WSTeed XA

() uRRedBR v (4) dicH v

Ranjit Guha, a famous scholar is related with which of the following studies ?
(1) Transgender Studies (2)  Subaltern Studies

(3)  Ecological Studies (4) Quantum Studies
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41, 75 U TN AT JEEEeT TG B g0 YREBRIAT AT Y& el 2

1 132 (@ 128 (3) 130 (4) 134

How many Padma Awards were approved by the President for conferment on the eve of 75 Republic
Day ?

1 132 (2 128 (3) 130 4) 134

42, Sfeefame ehae T vl 2024 ALY SHH T YT ARReT THRI fasid P17 B ?
(1) S R — A faeaw ) e AR — 2 feaA
(@) e el — el et (4) W RR — SR \ereie

Who were mens and women’s single’s winner’s respectively at tRe Australian open Tenrris
Tournament 2024 ?

(1) Jannik Sinner - Serena Williams ~ (2)  Jannik Sinner - Zheng Qinwen
(3) Novak Djokovic - Naomi Osaka (4) Jannik Sinner - Aryna Sabalenka

43, B TR HYERTT Qo) Rrendard! ot wehermTarS! ‘BIMReN’ SUHH G HA?
(1) g fasma H=rer onfor ST e Re SraiRTer.
2) TR AT AT e IR AR FeDbK) Gl KA.
@) fas anfor dasm Hrerd onftr BIMSTEC fearer.
(4) TaTaRuT, 99 ST AT SSe WA SMfOT T
Which Organization Jointly launched ‘BIMReN’ initiative for PhD students and Researchers ?
(1)  Ministry of Earth Science and Indian Ocean Rim Association.
2)  Ministry of External Affairs and Bay of Bengal Inter Governmental Organization Programme.

(2)
(3)  Ministry of Science and Technology and BIMSTEC Secretariat.
(4) Ministry of Environment, Forest and Climate change and SAARC.

44. 2024 =1 WRY Sffeifve wda WRA HuE =7 YRI$ B0 B ?

(@) Remm= BT (b) 3T 9B

) onfaw e Sftee d) ¥R YIerM HERIE fAfice

9l SR

(1) ™ (a) 2 (@, ®).@) G (®), @ (a), (b), () (d)
Who were the Chief Sponsors of Indian team in Paris Olympics 2024 ?

(@) Reliance Foundation (b) Adani Group

(c) Aditya Birla Capital (d) Bharat Petroleum Corporation Limited
Answer Options :

(1)  Only (a) 2 (@), (b), (d) OENCAC) 4)  (a) (b), (0) (d)
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45. 2024 =1 YIRS e REBR DI VAT AT ?

(1) Srles Sil. Bk 3T T o, AraRy

2) SERE B, SHY TR i1 I o

(3) WEEA Yl ST HirST TH.

(4) S . Bufthes oYy fAeiy 3 few

Who have been awarded the Nobel Prize for Chemistry in 2024 ?

(1) Donald G. Truhlar and Tabin J. Marks

(2
3
(

) David Bekar, Demis Hassabis and John Jumper
) Michel Gratzel and George M.
)

4) John J. Hopfield and Geoffrey E. Hinton

46. IR 2024 TR MRTTE fIHTT FHI (ADB) 3reheT BT B ?

(1) AT BT (2) dTbfed! ATHISN

(3) EoLD! PISI @) e

Who was the President of the Asian Development Bank (ADB) till November 2024 ?
(1) Masatsugu Asakawa (2) Takehiko Nakao

(3) Haruhiko Kuroda (4) Tadao Chino

47. ABUCTY FLTY WU BRI 2024 T BTN Py HRogw arel m?

(1) 31T AR WD (2) e e

@) ghoid Tl @) g @

Who has been appointed as the Chairperson of Lokpal in February 2024 ?
(1)  Ajay Manikrao Khanwilkar (2)  Satish Chandra Sharma

(3) Suryakanth Verma (4) Sanjeev Khanna

48. IR I 2024 =1 IfARYS WosrHed WRea BT 23 20 e, 12 Ricex onfdr 13 sfs 5a%
et ?
1) wr () Ao (B) UM 4) EverSH

\

Which of the following country won 20 Gold, 12 Silver and 13 Bronze medals at the 2024 Olympic
Games in Paris ?

(1) France (2) Australia (3) Japan (4) Netherlands
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19, A X AR Rt S WO e W? |
1) 24 SHERI 2) 25 SMERT () 26 SMART @) 15 FEs
The ‘National Voters Day’ is celebrated on which day every year ?
(1) 24 January (2)  25]January (3) 26 January (4) 15 January

50. e Hioren & Rad faeel @ S Sieerer ame?
1) Eor IR WP MOhS qesul.

2) URUIRG AEIRT Sefdcd dedies qeoul.

(3) PHdl MR Iorvasl R Soihs qeul.

4) T GRAIRT AES(D YREDS qI.

‘Switch Delhi’ campaign is related with which of the following sector ?
(1)  to switch from private to public schools

(2)  to switch from conventional vehicles to electric vehicles

(3) to switch from coal energy to solar energy

(4)  to switch from private security to public security

51. R S (schedule) Fs nfdT Iratweie sftreriedn faurerRN wefta omg?
(1) FFER-V (2 FFLA-VI @) FgER-VIL (49 SFED-VII

Which schedule is concerned with partition of Powers between Center and States ?

(1)  Schedule-V (2) Schedule-VI (3) Schedule-VII (4) Schedule-VIII

52. WRERI ISUEET ST . 1.3, AASHI B Heien AR ISTee-T< gad 301 A1’ FeuLd
I el ?
(1) oM — 31 2) Hem —32 (3) PeH - 33 @) P - 34

The Father of the Indian Constitution Dr. B.R. Ambedkar had declared which Article as the "Heart
and Soul of the Indian Constitution” ?

(1) Article - 31 (2) Article-32 (3) Article-33 (4) Article-34

Teed] PHTITS! ST / SPACE FOR ROUGH WORK P.T.0.
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53. HR<I RTguiren e wreliete S1on fur aew amR?
() HRA YIS HelH 58 AY MU e quid Fot o,
(b) RTSCTRT ¥ ISYECT IeAEA Bl TR AT WEIIRT GRT YSIa% Big bl A
T SR
1) v () @ (a) 9T (b) A
3) wF (b) (4)  (a) ST (b) eI HIORTE T
Which of the following statements is correct regarding the President of India ?

(@)  Article 58 of the Indian Constitution describes the qualification of the President.
(b) The President can be removed through Impeachment if he violates the Constitution.

Answer Options :
(1)  Only (a) (2) (a)and (b) both
i (>} Omnly (b) (4) Neither (a) and (b)

Be IR HEAGON BTSN T At A a1 st Jeaied! isaTer v PRyt BRoe ave
detis
(1) uls wew gewl s - 1951

(Ty WO T gHRT BIal — 1956

(3) AMITE T GO BRI — 1962

(@) e T g FRIET — 1976

Which Constitutional Amendment Act facilitated the appointment of the same person as a governor
for two or more states ?

(1)  First Constitutional Amendment Act - 1951

(2) Seventh Constitutional Amendment Act - 1956

(3) Twenty forth Constitutional Amendment Act - 1962

(4) Forty second Constitutional Amendment Act - 1976

55. dfed el RN RIS WA 96 SRS S9Sde oG
AT
(1) e S
(2) o g
@) T g WadE R ggAam
@) ooy ggaa anftr wd rouren fRiftrsen geadn
Parliamentary resolution to change the number of Supreme Court Judges other than the Chief Justice
of India can be passed by
(1) Simple Majority
(2)  Special Majority
(3) Special Majority along with consent of half of the States
(4)  Special Majority with consent of all State Legislatives

_ YR Y
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56. TRAFE PHERT favg NI it IReAT 3 Yo wreliertis) Siorn a6 Sl ame?
1) JEdw (2 &fFHa @) freo @) SR
The Parmanand Katara Vs Union of India Case is associated with which of the following issue ?
(1) Medical Care  (2) Banking (3) Education (4) Environment
57. qorer fasm faawm &
(@) 73 1 g GOKN BIFEN ARARIS TRV RIS TaRIERTS Ha=aad Sesid 91 ‘9 qHfse
Pl TR,
(b) 74 1 HEAI ORI PRGN B TAVE WRIGT GRS e T4 N ‘9 &7 SISwd
TS PO e/Rym aR_iEw amR?
() B3 (a) (2) v (b)
3) (a) 3T (b) SR (4)  (a) 3T (b) YebY PRI TN
Consider the following statements :
(@) The 73 Constitutional Amendment Act inserted part ‘9" in the Constitution regarding the
Panchayati Raj system for rural areas.
(b) A new Part’9 A’ was added to the constitution regarding Urban Local Bodies through the 74th
Constitutional Amendment Act.
Which of the statements given above is/are correct ?
(1)  Only (a) (2)  Only (b)
(3) Both (a) and (b) (4)  Neither (a) nor (b)
58. HRAY IrouEe SeRieHe) FHIGER o enPrYs A W WY SR seTgeedy

BRGNS 31T ?
1) 419 geTgeRI () 449 geAgeRN
() 469 HCAGER @) 429 TeAgeRI

Which constitutional amendment added the words ‘Socialist’ and ‘Secular’ to the preamble of the
Indian Constitution ?

(1) 415t amendment (2) 44t amendment

(3) 46" amendment (@) 42" amendment

Peel] HHETS! WM / SPACE FOR ROUGH WORK PT.O.
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59. TE-1 (WRERI IS HED wom ) NPT ARA-2 (ARG ) Heled Ay S e

-1 IrE-2
(YR oY " FoAd ) (TRgRY)
(a) oW — 14 @) <, e, du, o, o, S fhar e
FIUITE BRUNGHT AFRGAES WSHE BRI
. GIE
(b) HeH — 15 (i) RToATdIel BT TR A<l fhar fgfem A
AT |G ARG T GO 3.
() HoH —16 (i) SgTAIT ST ST PIUTAR TRHIT A Fel
TIUarT §al.
d) @ - 17 (iv) TST ARARNCT HIOTITE AdRIel DRIERTAR FA
31T FHTET FHF HREU] AGRUMR ATE.
TR SR
@@ ® ((© (@

€
(1) (i) (i) @Gv) @
(2) (@{v) (i) (@) (@
@) @Gv)y @ @) (
@) @) G @ (@)
Match List-1 (Articles of the Constitution of India) with List-2 (Provisions) and select the correct
answer using the code given below the List.

List-1 List-2
(Articles of the Constitution of India) (Provisions)
(@) Article-14 (i) The state shall not discriminate against any

citizens on the grounds of Religion, Race, Cast,
Sex, Place of birth or any of them.
(b) Article-15 (ii) There shall be equality of opportunity for all
citizens in matters relating to employment or
appointment to any office under the state.

(c) Article-16 (iiiy Untouchability is abolished and its practice in
any form is prohibited.
(d) Article-17 (iv) The State shall not deny any person equality

before the law and equal protection of law
within the Territory of India.

Answer Options :

@ ) (© (d

O @ @ @ 6
@ (v @) @ 0
@ (v O @ ()
@ @ @ O W
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60. HRN WALFETE ST S TUHIAN TGS MR?

(1) PeH - 170 (2 PoH - 171 (3) HoH — 172 4y daH - 173

Which article of the Indian Constitution makes provision for the Legislature Assembly ?

(1) Article-170 (2) Article-171 (3) Article-172 (4) Article-173

61. WIS AR B0 Hfeme FEFT gewy T ?

1) Wl gs (2 @ ufe A=

B) T EwIS fore (@) TR IigEieR

Who among the following persons was not a member of the cabinet mission ?
(1) Sir William Wood (2) Lord Pethick Lawrence

(3)  Sir Stafford Cripps (4) A.V.Alexander

62. MR XSYEE=AT ot 243 (E) THIO Y&AS IHUGRIT 7 AT Jo I SIeiedl PIVRITS HIIRad
<A gty foafita smel e o), arg gEdd R e,

1) Faeu el SER srer=r e

@ frasT® SRR e AR

(3) e Prasviazen s dewaxa frad erer R
(4) T Fasv@ FOX g Ao g e quTaRE

As per Article 243 (E) of the Constitution of India every Gram Panchayat Shall continue to exist for
five years unless it has already been dissolved under any law for the time being in force.

(1)  from the date of declaration of election results
(2) from the date of declaration of elections
(3) from the date fixed for its first meeting after election

(4) from the first Financial Year commencing after the Panchayat elections

Hoeg1 BTG SR / SPACE FOR ROUGH WORK P.T.O.
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63. WRAY ISgHe-gl GERTGOY IRTeTHE Welele! Gomal THGY B A6l

(a) RaeT WIRA™ Fa (b) TUH AL
(c) O3 e (d) ofeRE fauron
T S

(1) & (a) 3T (o) (2) T (a) MPT (b)
(3) W (b) IMoT () (4) I (c) 3 (d)
Which of the following are not the Federal Features of Indian Constitution ?
(a)  All India Services (b)  Single Judiciary

(©) Independent Judiciary (d) Division of Powers
Answer Options :

(1)  Only (a) and (c) (2)  Only (a) and (b)

(3)  Only (b) and (c) (4)  Only (c) and (d)

64. WRAY FRLFTT WS BT HeHER TIRRIME AR SR&ATITE TRE HRUAR JTell e ?
(1) Hom 243-B 2) ®F 243-C°  (3) P 243-D (4) P 243-E

The Provision for reservation of seats for women in Panchayats is made by which article of the
Indian Constitution ?

(1) Article 243-B (2) Article243-C (3) Article243-D  (4) Article 243-E

65. R ARYMRA Bo 165 =T GeHid N ARGIRAT BRIGTIR HedRIR HI0T 3ME?

(1) SRR S Ra @) SR EReR g

(3)  wEIfEer (4) ST AR R

With reference to the article 165 of the Indian Constitution who is the legal adviser to the Government
of State ?

(1)  The Solicitor General (2) Additional Government Pleader

(3) The Advocate General (4) The High Court Judge

Freed] HTTETS! WM / SPACE FOR ROUGH WORK
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66. m@wmmﬁmmmmwmmm? a

(1) PrEdeTs <@ (2) e IS

B) TASIE. 4) T sEs |

Which of the following electronic device converts light energy into electric energy ?
(1)  Photovoltaic diode (2) Photodiode

(3) L.ED. - (4) Tunnel Diode

67.  Ire1 QRSN AR dAMEY B T S BROGETS) Brar?
1) Rufs avor (2) e wy (@) = ooy @) <1g e
Ball bearing are used in machine to reduce .
(1)  Static Friction  (2) Rolling Friction (3) Sliding Friction (4) Fluid Friction

68. g IR Faer.
(a) AT SFrATATEAT 20 F 20000 Hz ST IRARAT VP AT
(b) Infrasonic waves ¥l JRARAT 20000 Hz U&7 31 om .
(c)  Ultrasonic waves ¥ 9RARAT 20 Hz Y& &9 .
(d) eaTeET O TSI YO B ed .
T I
(1) & (d) 999 IS 3T,
(2) T (c), (d) T SRS AR
(3) ¥d I SRIER 3.
4) T (a) I SRIER AR,
Choose the right answer :
(@) Human being can listen the sound of frequency 20 to 20000 Hz.
(b) Infrasonic waves have frequency more than 20000 Hz.
(©)  Ultrasonic waves have frequency less than 20 Hz.
(d) Sound waves can’t travel through solids.
Answer Options :
(1)  Only (d) sentence is correct.
(2) Only (c) and (d) sentence is correct.
3

) All sentences are correct.
(4)  Only (a) sentence is correct.
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69. HIET THFHISS °l SUANT
(1) PhE A (2) DEFIRD (3) TR @ AT
CS, is used as
(1) Synthetic work (2) Insecticide (3) Herbicide (4) FPungicide
70. HI A AHAGAL I S LI FHIE ST
(1) oy amfor feq (2) IR 3 3w
(@) PR 3 bl 4) B aMfdT I
Bronze alloy is a combination of _
(1) Copper and Tin (2) Copper and Zinc
(3) Copper and Nickel (4) Copper and Iron
71. @R qafd Aol SEde AT SRerel Y] 318

(1) CHy (2) CHCL, (3) Cdy (4) CHI,
The molecule which has the largest dipole moment among the following is

(1) CH, (2) CHCI, 3) Ccl, (4) CHI,

Tree] BIHTIS! ST / SPACE FOR ROUGH WORK
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72. TR SR berel YO ST e SR WOl Sire e

grofy 3SR
@) HRIFT TS G e
(b) R TR gasul () (ii) SNfReTORT
(c) HeHREN (i) TTATESfeTeT
(d) ueleT Bred (SHUI) (iv) BRI
T S

@ (b) (9 (d)
(D) Gv) @) ) ()
@ G @) @ (@v)
@) @) @ @) ()
4) G @) @) (@

Match the below mentioned animal with their order :

Animal Order
(a) Indian earthworm (i) Hemiptera
(b) Indian Cattle leech (ii) Opisthopora
(c) Honey bee (iii) Gnathobdellida
(d) Bedbug (iv) Hymenoptera

Answer Options :
@ () (©
(v) (@) (i) (i)

1)
(2 @) @) @ (@)
@) @) @) () (@)
@ G @) @Gv) @)
73. USHISEEHSY ER ATIDIARET TIge W,
(1) Tiire TR (2) werSHer T 3) T e @) EeE T

In Peteromyzon, the anticoagulant is secreted by .
(1) Gobletgland  (2) Mucousgland (3) Salivary gland (4) Zymogen Cells

74.  HIS " E Yo TN HTTH HE FHIASS 3713,
(1) w9 (2) W% (3) TR (4) el
“Kangaroo” is an animal belongs to Phylum .
(1) Reptilia (2) Mammalia (3) Amphibia (4) Aves
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75, S TS

(1) " AR (URT) UReEE 918 B,

) NS AT @ TGP B

(3) TirE e I 16 Bkl

(@) R gaedT HH e

Biofertilizers bring about :

(1)  addition of Mercury to the Soil.

(2) nutrient enrichment to the Soil.

)

increase in the Acidity of Soil.
(4) decrease in soil fertility.

76. EHTENE T AT BT Bl ?
1) FgaRITT 2) FBIERT (3) @leleiicTd 4) gt
Tikka disease of Groundnut is caused by :

(1)  Fusarium (2)  Cercospora (3) Colletotrichum  (4)  Puccinia

“F

77, @R PR R SRhEed ded gP e’

(1) I FERIGE SHYER T bt S

(2) W TS qrogTl ATl 3.

(3) I gel Yaul e (YIESH) .

(4) YUHTH T T IITER I 7
Which of the following statement is incorrect about bryophytes ?
(1) They are known as amphibians of Plant kingdom.

(2) They require water for reproduction.

(3) They have rhizoids instead of roots.

)
(4) Rhizopus is example of them.
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78. diSM@EIC Ude SR TifAsl o & Weleta! Bl W 9aR e TP 3
(a) EBFT TRAHRAGEFN HRINYA s
(b) SR SERE

(€ TRES, MY

(d) I SREISE P YERH, FaRER

1) (@)wF @ (a) ST (b) B
®) (@) (b) afr (o) W @ (@ P

Oral Polio Vaccine is manufactured in which of the following Laboratories ?
(@) Hoffkin biopharmaceutical corporation Ltd.

(b) Panacea Biotech

(c) Biomed, Gaziabad

(d) National Institute of Nutrition, Hyderabad

(1)  (a)only (2)  (a) and (b) only
(3) (), (b) and (c) only (4)  (d)only

79. SO WER HIYHAL THT YoIriell BRIST el mmﬁmwmma@amw,
et I T,

(1) WERAE (2) TR () IFATIfAEH @) PETaIEE

The interaction in which one species benefits and other is neither harmed nor benefited is termed as

(1) Mutualism (2) Parasitism (3) Amensalism (4) Commensalism
80. T ST AT TV & SR B,
1) ImEEE 2 <= @) b= @ e

mineral deficiency is most common cause of goiter disease.

(1) Iodine (2) TIron (3) Calcium (4) Sodium
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81. TSI 30 W Pt wig u it fdeds g 10 A Browr 7 4 [ S SruT HRI9 gt 7aN
BT, T TRl TR Bieiled.
1) 100 2 % 3) 90 @ 8

A solid sphere of radius 30 cm is melted and recasted into solid cylinders of radius 10 cm and height
. 4 cm, then number of solid cylinders formed will be

1) 100 2 95 3) 90 4) 85

82. TUH AL 480 5 A, SieR YA AT HTad. eI 3 8 {5 A Al B srieur g SR qu
BRI AT 3 A SR 96 AFTAl oY YeAvmeran §& 977 fhdl aRiet?
1) aEh4ofeH. @ TR RfFEA. () TR @) TN 3efEA.

A train travels a distance of 480 km at a Uniform speed. If the speed had been 8 km/hr less, then it
would have taken 3 hours more to cover the same distance. Find the initial speed of the train.

(1) 40km/hr (2) 32km/hr (3) 48 km/hr (4) 36km/hr

83. IMPHLY foiedr WROR]/ AP ATHRTE IR faer?

T 0
—5 cm—
o
-HD cm
9cm H
—7 cm —
A i
(ST B THIUTSG AP el
(1) 42cm 2y 21cm 3 23cm 4 32cm

The perimeter of the rectilinear shape given in the figure is :

TH ]

—5 cm—
a
H2 em
9cm =
O
—7cm—
1o

(The figure is not up to the Scale)
(1) 42cm (2) 2lcm (3) 23cm 4) 32cm
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84. WWZlﬁHanwﬁgwxﬁaWWﬁaﬁmwm
RN 73 fieR SRR Craams sHMiee ve it o a9adr. @) wem) x 99 37,

1) 53 frex (2) 5P @) 7frx @) 9frex

A 21 meter tall tree is broken by wind at a height x meter from its bottom in such a way that its top

struck the ground at certain angle and at a distance 7./3 meter from the tree. Then find out height x
of a tree.

(1) 5.3 meter (2) 5 meter (3) 7 meter 4) 9 meter

85. T RiefT S SMfYT WF 19 UIRIR 11: 9 oM. SR AT a1 T 36,000 HIAHET T90 FA X @Y
ARSI EREECIES

(1) 16,000 (2) 20,000 (3) 18,000 (4) 16,500

The ratio of income and expenditure of a teacher is 11: 9. If he saves ¥ 36,000 per annum, his monthly
Income is )

(1) 16,000 (2) 20,000 (3) 18,000 (4) 16,500

86. THI I 40% Fer Rrsygeh firesaed. SR 50% faemeafar R fresq srrer snfor i gei v
TFHART 60% 3 TR RITq frssrerean qeli<h carar w17 aRyer?

1) 60.1% 2) 56.67% 3) 30% 4) 55.6%

In a class 40% of the boys got a scholarship. If 50% of the students got a scholarship and girls
constitute 60% of the total strength, find the percentage of girls who got the scholarship.

1)  60.1% ) 56.67% 3) 30% 4) 55.6%

87. Tl THed fyeneat frofeien wei W 13 amR. SR 25 e Rofieed At e
10 ST el frasfaeiean el TR 18 sRiet a% @1 quidier qoii e frdr?
1 10 @ 5 @) 15 @ 20

The Average marks obtained by the students in a class is 13. If the average marks obtained by
25 boys is 10 and the average marks obtained by girls is 18, then the number of girls in the class
are :

1) 10 @ 5 G) 15 4) 20
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88. SFEURY @ R el B WRIR T fiawd doredn prren i oS, ad Wi v fiean
FNY T ¥ TTET THT G Horedr BT T AME. TN Vg el T W 14 @ Ut &% bl
TR 0T, TR ST Xiget et e R I B Qo B ¢
1) 4 2 6 G 8 4 3
Work done by Arun in one day is half of the work done by Sachin in one day. Work done by Sachin
in one day is half of the work done by Rahul in one day. If Rahul alone can complete the work in
14 days, in how many days can Arun, Sachin and Rahul together complete the work ?
1 4 (2 6 G 8 4 5

89. TS gPFER A HEEe B TADT T 3,600 T faehd. T AR IR Tl 20% THT TR @R
20% TreT BT, TR BRI WY FAERTT B 61 fhar et srer?
(1) ¥ 3003 () Z400de (B) T 2501 4) %200
A shopkeeper sells two mobile phone for ¥ 3,600 each. He gained profit of 20% on one mobile phone
and loss of 20% on another mobile phone. What was the net profit or loss in entire
transaction ? ,
(1) 300 1loss (2 400 loss (3) ¥ 250 profit (4) %200 profit

90. f¥.14 aifTee 1947 T SGTSARIE PV AR Bl?
(1) |HaR (2) gu¥ER (@) THAR @) YHAOR
What was the day of the week on 14" August 1947 ?
(1) Monday (2) Wednesday (3) Thursday (4) Friday

91. ayaRie G REr B T wemfrereT W IR G Ige @rEr A 9a .

®n 17 2 21 3 15 4 22
Observe the numbers in the following circles and find the correct alternative of the number which
comes at the place of question mark.
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92. Rz USaoR AT 79 el IRd. SR IR BT IRTHFS 3RS TN RfTe PBTer @) Sor
feeren IRYer?
(1) =féor (2 uR=w (@) W @4

It is 9 am. in Rinku’s watch. If hours hand is in the west direction then what direction remain
minute hand at that time ?

(1) South (2) West (3) North (4) East

93. W@eNe ag@rerd Yol Pearan fafaer ardiadier Mkt wd geifier. gear Wi S 246,800 IR, X
FUEE TYFITERIE Td fhdH oI o ?

fretor

I IS
Hif9® @4
(1) 8,840 2) 8820 (B) 4820 4) ¥8,440

The following Pia-diagram shows the monthly expenses of a family on different items. If them onthly
income of the family is ¥ 46,800. How much more expenses are incurred on foodgrains than on
clothing ?

! Education

, X Miscelleneous

i /NI gge Expenses

i Food\\ﬂl44° \ 76°

i grains ¢

! \ Clothing

!' Monthly expenses

(1) 8,840 (2) 8,820 3 4,820 (4) 8,440

94. THT Gihfads AT ‘UNNATI & 9165 79 3 fr&relt <7a) a8 g AT “UTKARSH’ & veg o<1 farfear

gder?

(1 80 2 90 3) 97 4) 98

In a code language “UNNATT is written as 79 then, in the same language how ‘UTKARSH’ will be
written ?

(1) 80 2 90 3 97 4) 98
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95. WERE FFAAT 20% & BUE HedM WRERRN T 160 fFTime 2.5 kg SR WR fieg, Trebd. TR

9iT kg 3rTerRl H fHwa o,
T15

1)

(2)

®)

212

4)

16

If a 20% reduction in the price of sugar gives the buyer 2.5 kg more sugar at a cost of ¥160. Find the

original cost per kg.

(1 15 2) (3) 12 4 16
96. IR A=4, B=6, C=8, 3 HHN AT, APl el 9T 2hedt.

P B C| M

E H

I L

DI N|OJ| A

F K K K G| ]

O T @ - ® [ @ T
If A=4, B=6, C=8, then find the missing part of the diagram.

P B cC | M

1 // L

DI N[O} A

F K K K Gi]J
® T @ - e @ T
97. SRAfIErEd] SN PIOEI b IgA?

Y2:4::V2:?
1) 49 ?) 3) 16 4 9
What will be the number in the place of question mark ?
Y2:4::V2:?
(1) 49 (2) 3 16 @ 9
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98. TP T N & UrEed BHDER IR, S & aeT S FAGER AR, R T & N 7o G Sy
N &MfoT S =1 AegHy ariet ox avife frdh Rremeit smeer?

1 23 2 24 @) 25 @) 26

N ranks fifth in a class. Sis eighth from the last. If T is sixth after N and just in the middle of N and
S, then how many students are there in the class ?

1) 23 Q 2 3) 25 @ 26

99. wﬁamma@mzwmwmmwsmm.mmmmm
AR qIeel TR 10 S AT, o 1 YT R oy argdier?
1) 84 2 80 3) 76 @ 74

There are some mangoes in the box. If it distributed equally among 12 boys, 8 mangoes remains in
the box. If the same mangoes are distributed to 14 boys, 10 mangoes remains in the box. How many
mangoes are there in the box ?

1) 84 2 80 @) 76 4 74

100. MmﬁTN%’a‘ré[WW,QWRWW.MWWRWW%,WNﬁQWW

By ?

1 9% (2) o @) w8 4) W

M and N are brothers, Q and R are sisters. Son of M is Brother of R, then what is the relation of N
with Q ?

(1)  Brother (2) Grandfather (3) Father (4) Uncle

-00o0-
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ol — (I8 1 964 4e.... )

(8) weTyfcrTsy fafeq Foea fafime Swi= F= %™ (6 o) FE.  TYREEeAfaied Safehel a1 TR
FTETER =l HTH Hod™ T HA HOEA RYH 6 AR, I AMS WES o AMER SHCTRER AEAH SR
S CTheias Sone AR WRE S SAEEE-82 ARie WAITER FRAE FOAM T F
ﬁmwwmwm/mmwmmmmmm@w

(9) wwwmmwwmwmammmﬁmm
AU TEE SR, W AR TETRY WAy SHEaN SuedT SufAeh e MR- 1 AIIHRTRS A
faraRaT TR 0T AR ATE.

T 9
W. %, 201, TS T T FOAEE HION AT FA hel ?
(1) T g Tl (2) IR fommEmR
(3) TSI TEERA U (4) TSRS TR
o T A IR ¢ (3) TSN T T o TR, e 4w SW Y (3)” e, TE WIASIHT
T . 201@%33?—%“@”%3@@@%%%3@%%@%

w20, @ @ ®@
mmﬁwm&aﬁammww—mawmmmﬁ%ﬂﬁ
. YEEHE NS defid ades qoia0 SEifhd ShEd el TR Tad hieodl IS AMeUT
TS, UFES ar TEE U s . _

el BETETS! ST / SPACE FOR ROUGH WORK



